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COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Masririirm Marks. @ 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and S are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which

must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet 1in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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QYus—A / SECTION—A

1. Tafafiad geat 8 8 Uede w1 I s 150 Ts6) § o

Answer the following questions in about 150 words each :

(@) TEIHT qFH-3 (Yo THo-3) Fi Hadl 9a9 § wyp HHifsmu |
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10x5=50

Briefly explain the significance of Accounting Standard-3

(AS-3).

(b} FHAT RIF Tosed A (30 TWHo 3o o) & Hew ) foa=m shifsm)

Discuss the importance of Employee Stock Option

(ESOP).

(c) EId AT Td FaEL AT =1 8¢ 33Tl Higd gageEq

What are sunk cost and opportunity cost? Explain

example.

(d) AEEE feafd T =-91 o 597 g9y 87

Plan

with

What 1is the relationship between residential status and incidence

of tax?

(e) = wrl S cralisn | gefya w@ wege 6 faaa Fifm

Discuss the key aspects in respect of audit of insurance company.
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2. (a) X fafies st vy fafnde gam (offeim) & =gad@ 4 9| I #3944 gqHed i T3

9 XY Teifiee s &1 fofa foen foeeht stfusa 96t €20,00,000 &0f, =t & 10 uid 32
% 200000 3feie 3 0 fawifsa grfl1 31.03.2021 1 SRl & qa3-93 39 YR 9
fageT X ferfis Y fafids
) )
1. 3ferfe wa e1lies -
1. IRuRs iy -
(@) IS 2,80,000| 5,00,000
(b) AR{Mfaal wd sriyey
GICRCRIERE(GY 60,000 3,10,000
2. y=lda T
8% YU Furg3 2,20,000 -
3 mqarﬁfa :
ST < 1,08,000| 2,80,000
F 6,68,000{ 10,90,000
I1. gfEair
1. Ay=terd gfmulal
gfeaqie, €939 1@ 39l 2,50,000| 5,90,000
2. el giHuiad
(@) ATAY=N 2,70,000 1,00,000
(b) HATNF W 88,000 2,84,000
(c)] &% H %3 60,000 1,16,000
F 6,68,000| 10,90,000

faemm FrufEl &) afeahmEl e e ®, F8 16 F s e =9 A= 2, 7WE I

W gETdid foran s 2

(1) X Tafee & womal =+, XY fafiee & 8% ®vua 10% Hiwem @ Silt sk, Taemn

EICHES

(2) Y Tdfyle = gitduid, 993 Td 9 &1 god T 6,10,000 Tuiia T man

(3) X fafiee & =i gl &1 qoi &9 & ayefl 83 8 wd X fdfee =1 9% 3y gfwwms
g0 W@ ST @ 918 Ui 8 giiies <31 &1 ofar fFn s 8

(4) X fafyes & =afa 1,00,000 @@ Y i

feo 7o wet =1 I ST

g &) ©91d € 3,00,000

(i) 3G 3MYR H TUET FINT, 56 T XY TAHIE & I =1 foea™ S & S3URH F

g TS fehy ST )
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(@) 1 3%, 2021 =1, 54 fafs = gamas gof gan, Xy fafiRs 1 qom-13 dar fifvm
(i) X TdAfee =l g&en) 1 9= 3 ' 9 wafeai afed snavas sHa sfafsai Hifvm)

X Ltd. and Y Ltd. were in telecom business. Both the companies took a decision
to amalgamate and a new company XY Ltd. is to be formed with an authorized
capital of ¥20,00,000 divided into 200000 equity shares of €10 each. The
Balance Sheets of the companies as on 31.03.2021 were as under :

Particulars X Ltd. Y Ltd.
%) ()

I. Equity and Liabilities :

1. Shareholders’ Fund :

(a) Share capital 2,80,000 2,000,000
(b) Reserves and Surplus
(Profit and Loss A/c) 60,000 3,10,000

2. Non-current liabilities :
8% Secured Debentures 2,20,000 —
3. Current Liabilities :

Trade Payables 1,08, 000 2,800,000

Total 6,68,000| 10,90,000

[I. Assets :

1. Non-current Assetfs :

Property, Plant and Equipment 2,950,000 5,90,000

2. Current Assets
(a) Inventories 2,70,000 1,000,000
(b) Trade Receivables 88,000 2,844,000
(c/ Cash at Bank 60,000 1,16,000
thal 6,68,000; 10,90,000

The Assets and Liabilities of the existing companies are to be transferred at
book value with the exception of some items detailed below :

(1)

(2)
(3)

(4)

The debentures of X Ltd. are to be discharged by issue of
8% debentures of XY Ltd. at a premium of 10%

Property, Plant and Equipment of Y Ltd. was valued at ¥¢6,10,000

The Trade Receivables of X Ltd. are realised fully and bank balance of
X Ltd. are to be retained by the liquidator and the Trade Payables are
to be paid of the proceeds thereof

Goodwill of X Ltd. was worth 1,000,000 and Y Ltd. was worth
¢ 3,00,000

HXS-U-COMA/7 4
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You are required to—

(i) compute the basis on which shares in XY Ltd. will be 1ssued at par

to the shareholders of the existing companies;

(i) draw up a Balance Sheet of XY Ltd. as at 1st April, 2021, the date of

completion of amalgamation;

(i) pass necessary Journal Entries including bank entries for closing the

books of X Ltd.

(b)  Tafmio gweq 4 el ama womelt Tenfia e & fagmal @ =Ron & eEEEy |

Explain the principles and steps in setting up a good costing system in a

manufacturing organisation.

(c) () Tapety gsiomd it oM deeretia e aftaafoa =t aftariee s

(f) STeTFHTA 3 <THFRTAN Yol o1l 92 3 1 0T S B

(i) Define short-term capital assets and long-term capital assets.

(i) How to compute tax on short- and long-term capital gains?

3. (@ i B (49 @), w e =fts, 31 99, 2021 & G9F H A 99 ° HEiHd e
fefaron SEdd LAl 2
3% 9E1-@rdl " 3T 5% @ld & favowm 8 fafataa stast =1 9@ 9aqa 3—
%)
o W@rell SHA | T TR 4,00,000
o« gut § Uk W& fou X (P) fafiee & ym ufw sk forg o7 fied 4 anf 9
ferrn afg & o sma<i| = @ o1 (39 W s a9i } @55 o= A8 o 2
g T8 WA, 2020 F H gLAERd g3 ) 3,00,000
e fEE, S IEH TR T B, B IwER e 1,20,000
o Wi % fUar § ITET e 1,60,000
o Jto dlo Tm W A Al g () 1,40,000
o Sed T (Y€ # 94 Grefl Wiz & @liger g JTad a1 Hifeh
GlEER TR & 3TTER 912 & IAH §9 TE < 99 6,20,000
o FMA dT-uz | ueht ufw 4,40,000
HY FHFRT
(i) a0 12AA = T8d Ysiiehd ¥HIY =16 =1 983 qH e 24,000
(i) 9 % aE e giasa [fE (de flo Tho) @ 4 1 T 17,800
(i) IFFH TEMAT ASH & AW W AP Jioeg [l @ 5 g 1,50,000
(iv) 9% AT § Ffu ogfF =1 mfes &)1 394 369 FN o sifia 6 3,60,000

i B -yl 58 2021-22 % fou s-am 3 6 groEn S |
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Mr. B (49 years), a resident individual, furnishes the following particulars

pertaining to the year ending 31st March, 2021

)

Rent received for a vacant plot of land

Amount receilved from X (P) Ltd. for a house at Pune for which
he had been in negotiation for rent enhancement since last
4 years (this has not been taxed in any earlier year. However,
this house 1s transferred during March, 2020)

Gift received from Alekhyo, his best friend
Gift received from mother’s father
Winning from a TV game show (net)

Amount forfeited (initially paid by a buyer of his vacant plot,
since the buyer could not finalise the deal as per agreement)

Amount received under Keyman Insurance Policy

4,00,000

3,00,000
1,20,000
1,60,000
1,40,000

6,20,000
4,40,000

Other information

(1)

(1Y

Donation given in cash to a charitable trust registered under
Section 12AA

Interest credited in the Public Provident Fund {PPF) account
during the year

(i) Public Provident Fund paid in the name of his minor daughter

(iv) He owns agricultural lands at Malaysia. He has derived

agricultural income therefrom

24,000

17,800
1,50,000

3,60,000

Compute the taxable income of Mr. B for the assessment year 2021-22.

(b) 32 I T 87 gG% AT ) GHSATZU

()

What is right share? Explain its advantages.

Analysis of his bank account in his ledger reveals the under-mentioned data—

20

15

TF FREH H 39 T A A 3 B W ORA B W A W 5% B 3gHa ® & whE
BW 2% | {9=8d & (9z@ @ 3 ft aya 3¢l € 31 A, 2021 F XA, wEma A 6 €6
fd gerTs b1 SPTd 1 Wt s 10000 3HERal wgeE T off | 3 o 38 e o

qfZar A Y#41 B

(%) )
qrHi — 6,140
STH 10,000 6,000
I9ETg 6,000 4,600

utseal A 8 Tl (3132qe) 9300 st of ) wlrn B @ frfa 9200 sEat o)

Uishdl oI 91 3I9EE 81 /1 ol A Hifsu)
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In a factory, the product passes through two processes, A and B. Loss of 5% 1s
allowed in process A and 2% in process B. Nothing being realised by disposal of
the wastage. During July, 2021, 10000 units of material costing ¥ 6 each were
introduced in process A. The other costs were as follows :

Process A Process B

(€) (©)
Materials — 6,140
Labour 10,000 6,000
Overheads 6,000 4 600
The output was 9300 units from process A. The output of process B was
9200 units.
Prepare Process Accounts and Abnormal Loss/Gain Accounts. L5

4. (a) ABCFrql U9 (I9A) S 8| I @A & Taveou 8 e glal a—

feeR &rTa ¥ 1,00,000 94 & 1T
gitad] T ¢ 40 ufq 0=
CERRE ¥ 140 9id o

&l 2000 Hsl id ay

) ga-fa=sg famg (o 30 dlo) &1 yal HifsU )

(i) 60,000 T AR FH F AT o= 4 arell TS = GEd 1 Gl I

i) ()@ (i) & e o 3w g, afe vfa i fase o seee € 120 @ S 87

(iv) afe wrfl £4,000 sfafiee fBr @@ & 1w wfa 99 600 #9 Alus o Fhdl 2,
39 (i) S Wi WS N S TEA o oY fasa Jog o g = e’

ABC company produces tables. An analysis of their accounting reveals—

Fixed cost ¢ 1,00,000 for the year
Variable cost v 40 per table

Selling price T 140 per table
Capacity 2000 tables per year

(il Find the break-even point (BEP).
(i} Find the number of tables to be sold to get a profit of ¥60,000.

(iii) What will be the answer for (i) and (i), if selling price changes to
¢ 120 per table?

(iv) If the company can manufacture 600 tables more per year with an
additional fixed cost of 4,000, what should be the selling price to
maintain the profit per table as (i1) above? 20

(b) ' ‘oraie Fof @R & fore s gEe wonedt 717 wemgw | gHeh! famivdien @l warEn )

“Accounting is an information system for decision making.” Explain. State its

characteristics. 15
(c) FH-AGINLT F1 27 9P ILIT T THFIIY | F-TGIIGF FH 7l Hehal 7
What i1s tax audit? Explain its objectives. Who can be a tax auditor? L5

HXS-U-COMA/7 7 (P.T.O.
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E™uvs—B / SECTION—B

5. TAeifaltad yoai 8 9 g %1 39 A 150 Teal B Eifeu .
Answer the following questions in about 150 words each : 10%x5=50
(@) REq-ufdwa fafmg-wem (fo-fed 2g-311%) = 27 foaxdim fokm 3§ wud wewm =) w9z

What 1s rnisk-return trade-off? Explain its significance in financial decision
making.

(b) ATHeTad Usl 9T &) SRTig i g Taulta-awal i faa=m i)
Define optimum capital structure. Discuss its determinants.
(c) S T w27 gSh gt & fagmal i amsgn |

What is capital rationing? Explain the principles of capital rationing.

(d) el 9= gHIaied S SEgHE I WaY H HHATST |

Briefly explain any five innovative debt instruments.

(e) W39 ITH] ] F@E] & H Mg el Taeidq (o Hio Tho ) = A Fl THIIET

Explain the importance of venture capital financing (VCF} in promoting
start-up enterprises.

6. (a) WHY T=IEeS fdfiee & g [Haw & 9 wEad 2—aiEe T X R 9fEde Y 3 9 3399
2| g X & e & 3-4 s Fl snfeas and ) smavasdr 2 @ 3 gfEs v+ fag
¥ 33 FUg I ARIE AP Sl FEA Bl 2| ] G o T Siaq-q6 @ 8% ¢
gl X & foe siiflan fifiem @ 2% & 3R ufgismr v & faw 4% 2

2H aiENeT & Wi Ushe ofaates R Hfvada qeamm o = fou 7 #

RIS X qRFST Y
I9 | geATRId UFg 37-adie |Hlo Fo (CE)| ¥eHf3rd U%g 37=dlg |Hlo go (CE)
1 F1-8 FUs -85 T 18 FUS ‘90
2 T2:0 S 75 ¥1-8 #g -85
3 T2:0 TS 60 T2:0 FUS 75

Sﬁ%mﬁﬂﬁﬂwﬂ:
gy 1 I¥2 g3

do dio Tho @ 8% 926 857 794

o o ThHo @ 10% 909 826 751

dlo dio THo @ 12% 893 797 712
3§ fowga faaoon @ fagifa Hifse fe—

() Sifag-gaEg g2 R f9ia (es-tgeeds @@= @ 1Yg);
(i) Tfraaa qoaam gl fafa (el feac= s nus);
&1 I9ANT Hleh A1 AN § 8 H -9 gims Eisn F s =nfge

HXS-U-COMA/7 8
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The Zenith Enterprises Ltd. has two investment proposals—project X and
project Y. These are mutually exclusive. Project X requires an initial outlay of
g 3-4 crores and project Y requires an initial outlay of € 3-3 crores. The risk-free
rate is 8% for both the projects. The risk premium rate for project X 1s 2% and
project Y is 4%.

The expected cash inflow and certainty equivalent coefficient for projects are
given below :

Project X Project Y
Year| Expected Cash Inflow | CE | Expected Cash Inflow| CE
] ¢ 18 crores -85 v 1-8 crores ‘G0
2 ¢ 2:0 crores TS ¢ 1-8 crores -85
3 ¢ 2:0 crores 60 ¢ 2:0 crores a7 5

The PVF for 3 years :

Year 1 Year 2 Year 3

PVF @ 8% 926 897 794
PVEF @ 10% ‘909 826 a1
PVF @ 12% 893 L9 L

From these details, determine which of the two projects should be accepted by
using—
() risk-adjusted discount rate method,

(i) certainty equivalent approach method. 20

(b)  TTE i @ 7 T WS I IUR-UTIAT H HGH FA H AMHA HHES] ) HHAEC

What is credit policy? Explain the criteria involved in assessing the credit-
worthiness of a customer. 15

(c) wrd ® Mz N g 6 aRET-ule % = $i s i)

Discuss the phases of operating procedures of monetary policy framework in
India. 15

7. (@) XYZ FOH 60% &mdl 9 FW FF, Tl 9 48000 FHEA A1 Ieqred HEfafad dntd e

gl T F Tl 8
F=] HJTdA ?Sﬁm
BE T3 uld g2
3ufteny (uitadaeiier) T 2 gid 3
3uitey (feer) g1 9id 313
gILs 2 ufd g
Erofsre ¥ 13 Wi 313

HXS-U-COMA/7 9 (P.T.O.
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<Te] IREdiEl Td qTiyed 38 YR 9

\y.
&=l HTAd 4000 SHEFT ATTd W 20,000
<7e] S 1000 31341 AT T 8,000
IR T 3000 3HEIT AT R 33,000
fafay 29en 78,000
AT & TSR 30,000
gl &1 efded 3,000
Tl F B 6,000

SCHIG

1 Fgdl 7 = d@d g A8 e few g 6 1.1.2021 | $1E H 80% &HAT W

W FAT FAMTen | ATINH ITEA H @ gL ATH! HEvgsh Afdies wraeis gSi & g &

6l 3

JYFhRA] & | WU R hiFd, Aeigll Ua @Hl @ & R Wid 3 fOwa god ¥ #iE Sed

&t 8| TrEeRl F AEd YR FI ST, qidERl gR ARG IUR R 1Y # Aegll @ w9l %
T | faera gd it 9ifd =R @

XYL

Co. is operating on 60% capacity, producing 48000 units per annum at

the following cost price structure :

The

In view of the increased demand for the product, it has been decided that from
1.1.2021 the unit should operate at 80% capacity. You are required to

Raw material ¢ 5 per unit

Wages f 3 per unit

Overhead (variable) e per unit

Overhead (fixed) ¢ 1 per unit

Profit v 2 per unit

Selling Price v 13 per unit

current assets and liabilities were as follows
(%)

Raw material 4000 units at cost 20,000
Work-in-progress 1000 units at cost 8,000
Finished goods 3000 units at cost 33,000
Sundry debtors 78,000
Creditors for goods 30,000
Liability for wages 3,000
Liability for expenses 6,000

prepp
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ascertain the additional working capital as would be necessary in view of
additional production. The price of materials, rates of wages and expenses and
selling price per unit will not be changed. The period of credit allowed to
customers, credit allowed by suppliers and also time lag in payment of wages

and

expenses shall remain the same as before.

HXS-U-COMA/7 10
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(b) Y fataes # ffaRad dsfima a=m @

Teft # @ld e TSI e i qraid
) )
30000 3fFe sz, 100 TS 30,00,000 120
10000 8% 3famH 9T, & 100 %% 10,00,000 108
20000 10% 79, T 100 T 20,00,000 105

Ff A W 3R T W 5% afg @ F @y 20% @ Gifvd w0 F Iefe ®) fmimm
(FTER) FF T 30% i Fmfga anwiw F= 10% 21 F#9 R GEh FH i ShET qEr

(g=cgo To Hlo Hio) =1 THTI—

(i) T o4 HR 6 ¥ T;
(fi) SR Hod IR % €Y H;

TN Fd gY I
Shasun Ltd. has the following capital structure :
Sources of Capital Book value| Market value per securnty
) ©)

30000 equity shares of ¥ 100 each | 30,00,000 120
10000 8% preference shares of ¢ 100
each 10,00,000 108
20000 10% debentures of ¥ 100 each | 20,00,000 105

The company is expected to declare 20% dividend on its equity share with a
growth rate of 5%. The corporate tax rate is 30% and corporate dividend tax 1s
10%. Calculate Weighted Average Cost of Capital (WACC) of the company

using—
(i) book value as weight;

(i) market value as weight.

(c) TG ST &9 0 3150 HRo Glo To =hi s =l =

Discuss the role of IRDA 1in Indian insurance sector.

8. (a) TS Fr f OGSt 100 I T+ WY T 100 B
firg @ B Froelt = forflg o, 1 sl g e B, &

£ A 30 @ 2w o A ot 3 e R 3Ed e @ 10% B elferEr - ek

(THo THo ) fqey =1 o &t =fafad % 3 4 -

) a9 gy w S ) Frad w1 oofwea Fi, Ffe (1) v =Yg wfean g ein

(2) S =ifya TE fra T R

(i) T8 A 6 S | o T R,
751 Traw 59 99 == = 2, S T

i) w4 F gea I Hifse, afz (1) wwmm a9ifva = e e R (2) ST Hiba T2 TR

T 8

HXS-U-COMA/7
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15
it |

15

2 B A A M TR B T W

gie W F 6 wid I AT HITNd A

I frad A/ & 10 FT ¢ 3 98 €20 FUE 7

3 9TeT 39T F&AT F qiehed IS
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A company has a capital of ¥ 100 crores with shares of € 100 each. The shares
are currently quoted at par in the market. The company is planning to declare
a dividend of ¥ 6 per share at the end of current financial year which has just
started. The rate of capitalisation for the risk class to which the company
belongs 1s 10%. Using Modigliani-Miller (MM} model, answer the following :

(1) Calculate the price of the shares at the end of the vyear, if
(1) dividend 1s declared and (2) dividend is not declared.

(i) Calculate the number of shares to be issued assuming the company

pays dividend, has net income of ¥10 crores and make new
investment of ¥ 20 crores during the year.

(i) Find out the value of the firm, 1if (1) dividend is declared and
(2) dividend 1s not declared. 20

(b) W TSI gETs H AT Taya hl fafvm astel F gag 1§ gugmen

Briefly explain the different techniques of inventory management in a

manufacturing unit. I's
(c) WU MGl % SEY dih &3 ° Y@ g 1 fad=m Sifsu |
Discuss the key reforms in banking sector in line with BASEL norms. 1.5
* % %k
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